MFM2PI – Unit 0: Skills Review – Lesson 1

                        

      
           Date: ______________

Working with Integers
A. Multiplication and Division of Integers
An integer is a number in the sequence
 …, – 3, – 2, – 1, 0, 1, 2, 3, … 

Numbers that multiply together are called factors, and
when multiplied they create a product.


Numbers that are divided create a quotient.


Find the product or quotient of the following integers:
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B. Addition and Subtraction of Integers
When adding and subtracting integers, the first thing
we want to do is eliminate double signs (double signs

occur when two signs “bump up together” with no

number in between).  We do this using the same rules
as the multiplication and division of integers.



Example:
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Second, we collect all the positive numbers to make
one larger positive number.

Third, we collect all the negative numbers to make
one larger negative number.

Finally, we add the larger positive number and larger
negative number together to get the final answer.


Evaluate the following expressions:
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HW:    Worksheet – Unit 0 – Lesson 1
Rule for Multiplying and Dividing Integers





The product or quotient of two integers of the SAME SIGN is positive:


 ( – )( – )  =  ( + )


 ( + )( + )  =  ( + )





The product or quotient of two integers of OPPOSITE SIGNS is negative:


 ( – )( + )  =  ( – )





3 × 2 = 6





6 ÷ 2 = 3





Rules for Eliminating Double Signs�


+ (+)  =  +			+ (–)  =  –��– (–)  =  +			– (+)  =  –
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